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04

38m

24m

Hs 2100
No 100 100 )
( )
()
tana Hs A Hs Hs Ts Ls Hm A Hm Hm m Hb Bh h* W* A ds/dt dQ/dy dX/dt
m m m s m m m m s m m m m m/ m3/ /m m/
01 0.013 1.33 0.00 1.33 8.13 103.11 6.56 0.00 6.56 12.04 1.66 1.94 13.83| 1,236.91 0.12 0.0039 -1.15 -0.4 -37.9
02 0.012 1.33 0.00 1.33 8.13 103.11 6.56 0.00 6.56 12.04 1.63 1.92 13.83| 1,236.91 0.12 0.0039 1.58 -0.2 -20.6
03 0.013 1.33 0.00 1.33 8.13 103.11 6.56 0.00 6.56 12.04 1.66 1.94 13.83| 1,236.91 0.12 0.0039 2.86 -0.1 -12.4
04 0.012 1.33 0.00 1.33 8.13 103.11 6.56 0.00 6.56 12.04 1.63 1.92 13.83| 1,236.91 0.12 0.0039 5.07 0.0 15
05 0.014 1.33 0.00 1.33 8.13 103.11 6.56 0.00 6.56 12.04 1.68 1.96 13.83| 1,236.91 0.12 0.0039 -0.84 -0.4 -35.9
06 0.016 1.33 0.00 1.33 8.13 103.11 6.56 0.00 6.56 12.04 1.73 1.99 13.83| 1,236.91 0.12 0.0039 -1.14 -0.4 -37.7
o7 0.014 1.33 0.00 1.33 8.13 103.11 6.56 0.00 6.56 12.04 1.68 1.96 13.83| 981.56 0.14 0.0039 1.12 -0.2 -17.2
08 0.018 1.33 0.00 1.33 8.13 103.11 6.56 0.00 6.56 12.04 1.77 2.02 13.83| 803.40 0.16 0.0039 -1.52 -0.3 -29.4
(m)

-40.0 -35.0 -30.0 -25.0 -20.0 -15.0 -10.0 -5.0 0.0 5.0

01 |

02 |

03 |

04 |

05 |

06 |

07 |

08 |
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